Klasse N, 1.Durchgang

Board 1: 5 Anschriften | Board 2: 5 Anschriften
PktNS | Score | PKtOW | O/W | | NIS | PktNS | Score | PktOW | O/W |
8.0/130 0.0 AN J4e] [= | | 10| 0.0/150 gol AN 2sa | [+
20 420 60l 60 [4av [= | 2| 50/620 . 4a =
20 420  eof 8o |4y [= | | 5] 20300 svx | |2
2. o|| 420|| 6ol 8o |4y [ | | 7] s o||620 =
Lo J+o |11 (A solwo N

Board 3: 5 Anschriften Board 4: 5 Anschriften
N/S | PkNS | Score | PKtOW | O/W | | NIS | PktNS | Score ow
. 10 30/ 30 5.0 Alw 40 = | | 10 70100 3¢ |
. 2| 70400 10/ 6/o [3sA . 2| 30/ -110 26 |+1
. 5] 70400 10/ 8/o [3sA . 5| 70100 E
7] 30 30 50 8o [4e = | [ 7 30l -0 . 3] |
4 00/ -500 8ol 3N [4ax | Y 00/ -130 gol 3o |24 [+2

—_—
Board 5: 5 Anschriften Board 6: 5 Anschriften

N/S | PkNS | Score | PKtOW | O/W | | NIS | PktNS | Score | PktOW | O/W |
30 510 502w [4a] [+3 | | 10| 80 0 50 2/s [3a -
so s soMEw s+ 5| [ 5 sgwo ] 2
8ol 480 oo 8w [4a [+2 | | 8] 60430 35A | |+
30/ 510 50/ 8w [4a [+3 | | 1] 80 0 3a -
S o s ol o] o] B o o> v | [

Board 7: 5 Anschriften Board 8: 5 Anschriften
N/S | PkiNS | Score | PktOW | O/W N/S | PktNS | Score | PktOW | O/W

. 10 00| -620 sol 2w [av = | 10| 00| 50 sol 2N [4a] [
3] 80| 140 2v « | | 3] 50420 . 4a) =
. 8| 50 70 3v #1 | | 8 80450 40 |+t

-
. 5| 50420 . = |

-180 |

| N/S | PktNS | Score | PktOW | O/W |
2sa | [= | 8 0130 00 BN 44 |-
2sA | [= | 10 o -100 200 8N [4a |4
3sA | [= | 4] 30 2000 50 AN 54 |2
3a | = | 7] 30 200 50 8N [4a |2
. 1 B2 o - . W [4a] [+
Board 11: 5 Anschriften Board 12: 5 Anschriften
N/S | PktNS | Score | PKtOW | O/W | | NIS | PktNS | Score | PKtOW | O/W |
. 6 10[100 3 |- 6 - 60 B[s [3a 3
. 10| 60/140 3v . 4w -1
| 4 e0/140 4v 2
7] e0[140 . . . 5vx | |2
| 2] 10100 : 3 |- 0 - : 135A | [= |
Board 13: 5 Anschriften Board 14: 5 Anschriften
N/S | PkNS | Score | NIS | PktNS | Score | PKtOW | O/W |
8 10| 10 2v = 50 -400 3sA | |=
7] so0/110 1a +1 10 -430 3sA | [+
. 4 80120 1A | |+1 80| -140] 2y +1
5.0[110 24 = | 8 10| 430 3sA | [+1
10 -110 2 = | 1 50/ -400] 3sA | =
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Klasse N, 1.Durchgang

Board 15: 5 Anschriften | Board 16: 5 Anschriften
| N/S | PkiNS | Score | PKtOW | O/W | | NIS | PktNS | Score | PktOW | OW |
. 8 6050 2008w |54 [ | 8 60450 200008[s [av] [+
7] 20 -100 6o/ 8N [av) [ | | 7 20420 . av| |z
I 200 M0lo s [ | 4 60450 av| [+
6.0/50 . 1| 5] 60450 +1

L1 o0 50 . ERE
: i Board 18: 5 Anschriften
N/S | PktNS | Score | PktOW | O/W N/S | PktNS | Score | PktOW | O/W

9] 20 120 6020 J2sa | = | | 9 ea0t50 46| |+
DS ol | ool =] [ [ o 4 [
0.0/  -400 so i Zw [asa | [= | [ 1] 10130 3¢ |+

8.0/100 0.0/ M0jw [3sA . 5| 60150 40 [+

E X +1

(997 | | N | R | [ i
Board 19: 5 Anschriften Board 20: 5 Anschriften

| N/S | PkNS | Score | PKtOW | O/W | | NIS | PktNS | Score | PktOW | O/W |
5.0/ 100 3ol 2w [3sA .9 20710 5a +2
5.0/ 100 33A |8 40[130 6a +1
20/ -140 3a = | 4l 70[14e0 6a +1
8.0/200 33A . 5| 70[1460 . 6a +1
3sa = | 8 00 -100 . 6sA | 1|

Board 21: 5 Anschriften, 1 Ber. Scores
N/S | PKtNS | Score | PktOW | O/W

Board 22: 5 Anschriften
N/S | PktNS | Score | PktOW | O/W

7| 02 2 4a 2.0/110 26 [+

. 9 78 4a 4.0[170 3v [+

. 8 28 34 7.0(420 av |z
. 2+

Board 23: 5 Anschriften Board 24: 5 Anschriften

N/S | PKINS | Score | PktOW | O/W | | PktNS | Score | PKtOW | O/W |
. 7| sole 004N [4av [ 4.0/420 a0l 4s = |
9] 20/ 180 . 3¢ [+2 4.0[420 . = |
.8 40170 3v| [+ 4.0/420 = |
. 3a |2 | 40[420 =]
3v) 2 | | 8]  40/420 =]
Board 25: 5 Anschriften Board 26: 5 Anschriften
N/S | PktNS | Score | PKtOW | O/W | | NIS | PktNS | Score | PktOW | OW |
1 200 710 4ae| [+3 [ 4l 0] 100 av] |4
. 9] 80[100 6 |- . 9| 70620 av| |=
. 6| 50 -650 54 |= L8| 40170 3v| [+
. 3] 50 -6s0 ae | [+ [ 8 10 100 5v| |1
7] 00 1430 6o |= | 7] 70620 av| =




Board 27: 5 Anschriften

Board 28: 5 Anschriften

N/S | PKINS | Score | PktOW | O/W | N/S | PktNS | Score | PktOW | O/W |
1 6.0/50 200 8w [aa |4 1 5.0/ 100 40 |2
o/ 20 50 60/ 4ls [aa |4 o 1050 ERE
6 20 50 60/ 8/s [4a |4 6 1050 PERE
3 20 0 60 2/s [aa |4 3| 80150 40 |3
7 8.0“ 100 o.o’-‘w A 7 5.0H 100 4e 2
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